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ﬂ?ﬁjz21E10~12ﬂ B MO ) AT RIS 3
() ENE 7% k& 72 b HUfh =it ) (EPN 34 A AR eI
42U (126) 5.6 (-22.2)| —2.4 (-18.3)| 1.7 (-11.4)| -0.5 ( —4.4)| -1.2 (-17.2)| -2.4 (-23.9)
JSH( 46) 8.9 (-23.0)| -6.5 (-22.5)| -2.3 (-13.6)| -3.6 ( -7.4)| -5.5 (-19.4)| -8.9 (-25.6)
K7 (38) 6.6 (-21.5)| -4.0 (-18.3)] 0.0 (-12.0)] 0.0 ( 0.0)| 6.6 (-22.1)] 4.0 (-24.4)
B (22) 2.3 (-20.0)] 6.9 (-18.0)] 9.1 ( -8.0)] 6.9 ( —4.0)| -4.6 ( 0.0)] -6.8 (-20.0)
Fus ( 20) 0.0 (-24.0)[ 2.5 ( -9.1)[ 5.6 ( -9.5)] -3.0 ( -7.1)] -2.5 (-21.8)] 5.0 (-24.0)
£1(40) | 12.8 (-26.8) -2.5 (-19.1)] 2.5 (-14.3)[ -1.3 ( -3.7)[ 3.8 (-11.9)[ 1.3 (-21.4)
* JSIR(16) | 26.7 (-23.6)] -9.4 (-23.6)] 0.0 (-20.6)[ -3.3 ( -6.3)[ -3.1 (-11.8) 6.7 (-23.6)
& | K7 (14) | -3.6 (-32.2) -7.2 (-13.4) -3.6 (-10.0)[ 3.6 ( 0.0)[ 0.0 (-16.7)[ 3.6 (-20.0)
” A#E( 5| 0.0 (-30.0) 10.0 (-30.0)| 10.0 (-10.0)[ 0.0 ( 0.0)] 0.0 ( 10.0)|-10.0 (-10.0)
Firk( 5) | 30.0 (-20.0)[ 20.0 (-10.0)[ 20.0 (-10.0)[-10.0 (-10.0)| 40.0 (-20.0)| 30.0 (-30.0)
" 2R(86) | 2.4 (-20.2)] -2.4 (-17.9)] 1.2 (-10.1)] 0.0 ( -4.7)| 3.5 (-19.4)| 4.1 (-25.0)
1 F5HE30) | 0.0 (-22.8)] -5.0 (-21.9)] 3.5 ( -9.7)| 3.7 ( -8.1)| -6.7 (-23.5)|-10.0 (-26.6)
L | K@ 125 ((16.1)] 2.1 (-21.2)[ 2.1 (-13.0)] 2.2 ( 0.0)] 10.4 (-25.0)] 4.2 (-26.8)
% AE0ND| 3.0 (-17.5) 59 (-15.0)] 8.8 ( -7.5) 8.8 ( -5.0)| -5.9 ( -2.5)| -5.9 (-22.5)
* Bk (15) [-10.0 (-25.0) -3.4 ( -8.9)[ 0.0 ( -9.4)[ 0.0 ( -6.3)[-16.7 (-22.2)[ -3.4 (-22.2)
ESZEEAY st 1~3) sumL ) PRI RBIOR R
() ENE 7% k& 72 b Bl & AR i NPT AR FEDLH T
2B (126)  [-11.9 (-21.5) 5.2 (-17.5)| 9.0 (-13.6)| 4.7 ( -7.8)|-15.0 (-23.2)|-17.4 (-23.2)
JSHELC 46)  |-15.1 (-22.0) 5.6 (~19.4)[-11.4 (-12.5)[ -8.6 ( -8.5)[-21.0 (-24.5)[-23.3 (-21.5)
Kg-(38) | -8.1 (-26.8)[-10.6 (~17.1)[-13.5 (-17.9)| -2.7 ( -4.7)[-15.8 (-25.6)[-14.9 (-27.9)
A 22) |-11.4 (-16.7)] -2.3 (-18.8)] 0.0 (-13.2)[ 0.0 (-10.4)[ 6.8 (-18.8)[-11.9 (-18.8)
s (20)  |-12.5 (-15.2)] 2.5 (-13.1)] -2.8 (-11.9)] -5.9 ( -9.5)|-10.0 (-22.8)|-15.0 (-25.0)
A7 (40) | -5.1 (-13.4)] -1.3 (-11.0)| -8.8 ( -9.8)| -5.2 ( -7.5)|-16.7 (-18.3)|-13.2 (-13.4)
* BEH(16) |-13.4 ( -6.3)] -9.4 ( -9.4)|-15.6 ( -6.3)|-10.0 ( -6.7)|-23.4 (-15.6)|-26.7 ( —6.3)
| k7 (14) | -3.6 (-30.0) -3.6 (-16.7)[-10.7 (-20.0)[ 0.0 ( =6.7)[-17.9 (-26.7) -7.7 (-23.4)
” A& (5| 0.0 (-10.0) 20.0 (-10.0)| 10.0 (-10.0)| 0.0 (-10.0)|-10.0 (-10.0)|-10.0 (-10.0)
FEHE( 5) | 10.0 ( 10.0)[ 10.0 ¢ 0.0)[ 0.0 ( 10.0)[-10.0 (-10.0)] 0.0 (-10.0)| 10.0 (-10.0)
I £9.(86) |-15.1 (-25.3) 7.1 (-20.6)| 9.1 (-16.5)[ —4.5 ( -8.0)[-14.3 (-26.1)[-19.3 (-28.1)
0 JSER(30) [-16.1 (-31.3)] -3.5 (-25.0) 9.0 (-16.2)[ -7.7 ( -9.7)[-19.7 (-29.7)[-21.5 (-29.7)
| K @4) 109 (-25.0)[-14.6 (-17.3)[-15.3 (-16.7)| 4.4 ( -3.6)|-14.6 (-25.0)|-18.8 (-30.4)
“asan|-a7 c185)] 88 (2.0 3.9 143 0.0 105)] -5.9 (210|125 (-21.1)
* Bipk (15) |-20.0 (-22.2)] 0.0 (-16.7)| -3.9 (-18.8)| -4.2 ( -9.4)|-13.3 (-26.5)|-23.3 (-29.4)
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